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April 2019

Hime — Three hours

(Maximom Morks: T5)

(N.E:= (1) Answer ony FIVE questions in each of PART-A & FART-# and GnLy W
divislons of each question In PART- L

{2} Eoch guestion carrias 2fwo) marks in PART-A, Fthreel roarks in PART-& ond
Sifreel mvarks for aach division in PaRT C)

PART - A

1. What are tne different types of transmissicn of hegs?
2. Define spedfic heat capacity of liguid.

3.  Define adiobotic change.

. What iz wind mill? Give one of its use,

2. What is spectrameter?

6. Define copacitance of a eazacitor.

7. What are extrinsic sermi conducrors?

8. What iz positive Logic?

FART - B
9. State any three properties of thermcl radiazion.
10, State foule's Thomson effect,
11, Give any three discdvantages of renewable sources of ensrgy.
12, ‘What de you mean by integrated cirouit?
13, Whot iz the principle used in Laser?
14, Slete Joule’s Law of haating,
15, Srate Faradoy's lows of electralysis,

1¢,  Give the conditians for total internc! reflection.
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PART -
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S aily aih

b () vgdlee ot ogal-. oSl gecluny osEClelnhs g Esao
mEEAy TR TESELEE B, D LS =T pebiarn silanrednmhs)

17, ) Stute the postulotes of kinetic theory of gases.,
V! I 2 b : erageny Fen Aflegaarsday ol s,

! o S +i —_ = = : ! ocifi . i
0l Derive M::D;.-'n.ara |-::I...|:Lh|-::|n (p — £ = f beuween two specific hects @) gebanm  slerran  usdosedie P (EremE)  wSUlerser
E;_, and -f,__. af a Perecl gas. : ,J.'.:J,EI.,_:".P PRy [or "i-[.:i_;'-:-:'r s} Engl:lﬁ [ ||1j;;1|h i E-E T eged ey,

_ _ N _ Uflepn 3 (mma) el Gumrn
€y  The ratio of twao specific heats of a gas is 1.21 and the value of
universal gaos constant® — 4314 [K " Ykgmele™?. Calculate specific

heot coparity of @ gas at constant wolume. LighE - oy
18. (a} Explain Carnci ergine. ' 1. fabaiiun sl lfssfBRIG (OSMEET WTas?
{E)  Describe cascade process of Liguefication of cxygen. 2. Emsusdlar Gle & s —ssmgwm).
|I,_ [l e s . R I' - . L " i ]
ol Wreite g note on wind energy, 3. Ghadiu ol S506) - aenmL.

4, ETOMTENAN FTATMTAL a18180T  Sihest agilh LLasnlsh & 0.
19. {a) DBescribe an experiment toc determine the refractive index of a

glass prism using spectrometer. 5. Pperensisreclispectrometen memome aaran?

bl Explzin the working of radar with block diagram. 6. ulsr CasEldler dsmGragnd Smar - susngun,
e Exploin the construction and working of RUBY LASER, 7. eSS e ELSEl ST ST STee

8, urelllwey erglls (Positive logich ssomie sl ?

20, ta) Derive the condition for bolancing the Whesatstons's network.

Lighell — o
bl Bescribe the construction and working of moving coil
gulvanormeter, g, Clanod adifaSsdlar uamysds gemimars Sl
k] T =i e 1 1 [ ~ ] i= . = i a
(e} The resistance of a wire of length 25m ond 0.9m diameter is 10, s - Emassr sl g,

0.8 ohm. Colculate the res’stivity of the wire.
11,y ilbs e SEnme IsrlSatlar raSms ApaT (FamunbSeeTs .

. 12, Clemslus &mm srarmirs) srearan ?
21. jaol Explois how N-tyoo and P-tyoe semicorductors are obtained. Ll afh

k) Explain the working of NPN-tronsistor as an amplifier in 13, Gasflay duerubid SFFeN0 LTE?

cotmmon emitter configuration, ) . _ )
3 14, Glany) aflamara) ugdu ereadlar NS s,

£} With the help of the truth tables, explain OR, AND, NOT gotes, . , - : ; ’
15. WBarsonm oggly whflie  Lemiossisit dflEeners sl

16, e =& adbiprsfiodipsrm Honsmmasner s,
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